Marx: commodity fetishism
In capitalism it is unclear how surplus is produced - it is ideologically mystified
value is ambiguous: use (Gebrauchswert) and exchange (Tauschwert)

use value: ability of an object to satisfy a human need (non-comparative “apples
and oranges”) | can’t use a cat for the same purpose as a pen.
qualitatively specific and distinct.

exchange value: aptness of objects relative to its ability to be exchanged.
Inherently different from use value — quantitative not qualitative

to exchange is to compare, to make two different things equal. But for things to
be equal they must be the same relative to some standard of unity.

It's the same vis a vis this (abstract) standard. So exchange value is to compare
two different things to some abstract standard.

Marx says Aristotle got it wrong for interesting reasons

Aristotle: justice = fair exchange of equals. How can 1 house be the same as 10
chairs (in exchange) they have different ousiai

Marx: Aristotle had no answer to this — what ousia do they share in order to be
exchanged? Aristotle couldn’t understand exchange in his own society. In
Aristotle’s time there was no single abstract conception of labor. Slave and Free
labor were qualitatively different. Roman law can have no unified definition of
human (homo) - their society/legal system was dependent on two types of
humanity slave and free. It is unjust to treat one like the other.

In order to understand exchange we need a unified ousia of labor. Unit of labor
understood in terms of rate of production

Aristotle’s time didn’t have this conception of labor. Different types of labor were
performed by different types of people. All had their own ousia.

The work of a potter and a farmer are qualitatively different kinds of work. Only
with abstract value of labor is a theory of exchange possible.

step 1 construe your time in homogenous units (labor units)
step 2 compare abstract units to rate of production (socially necessary labor)

labor becomes a commodity, a thing you can sell
in ancient world labor was not generally construed to be a commodity

how much is labor worth in exchange value? (the amount of time/work necessary



to produce what | produce — i.e., subsitence)

use value of labor: amount that can be produced in a day ($12)
exchange value of labor: amount of work needed to pay for basic subsitence ($6)

so if capitalist pays worker $6 that is fair because it balances out in exchange
fairness and justice only makes sense in comparative context, justice has nothing

to do with use value because it cannot be compared.

so ein Glucksfall fur den Kapitalisten aber keine Ungerechtigkeit fur den Arbeiter
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